
Exploded diagram and spare parts list  GF439 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

 

 

 

 

 



Exploded diagram and spare parts list  GF439 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

Machine Explode  Code Description 

Buffalo Chamber Vacuum Pack Machine 1  M6 Stainless Steel Screw 

Buffalo Chamber Vacuum Pack Machine 2  Handle  

Buffalo Chamber Vacuum Pack Machine 3  M6 Stainless Steel Nut 

Buffalo Chamber Vacuum Pack Machine 4 AE931 Heat-sealing Foam 

Buffalo Chamber Vacuum Pack Machine 5  Seal Bar (assembly) 

Buffalo Chamber Vacuum Pack Machine 6  Clamp Fixing-spring 

Buffalo Chamber Vacuum Pack Machine 7  Clamp 

Buffalo Chamber Vacuum Pack Machine 8  Connector for Inlet Valve 

Buffalo Chamber Vacuum Pack Machine 9  L Shaped Connector 

Buffalo Chamber Vacuum Pack Machine 10  Piston (assembly) 

Buffalo Chamber Vacuum Pack Machine 12-17 AE935 Air inlet/ outlet valve & Copper connector 

Buffalo Chamber Vacuum Pack Machine 18,18P  Motor 

Buffalo Chamber Vacuum Pack Machine 11  T Shaped Connector 

Buffalo Chamber Vacuum Pack Machine 19  Rubber Pad 

Buffalo Chamber Vacuum Pack Machine 20 AF369 Main PCB 

Buffalo Chamber Vacuum Pack Machine 21  Insulating Strip for PCB 

Buffalo Chamber Vacuum Pack Machine 22  Bottom Board 

Buffalo Chamber Vacuum Pack Machine 23  Signal wire 

Buffalo Chamber Vacuum Pack Machine 24  Rubber Foot 

Buffalo Chamber Vacuum Pack Machine 25 AE932 Control Board (assembly) 

Buffalo Chamber Vacuum Pack Machine 26  Mounting Plate for Control Panel 

Buffalo Chamber Vacuum Pack Machine 27  Pressure Gauge 

Buffalo Chamber Vacuum Pack Machine 28  Power Switch 

Buffalo Chamber Vacuum Pack Machine 29  Machine Body 

Buffalo Chamber Vacuum Pack Machine 30  Power cord 

Buffalo Chamber Vacuum Pack Machine 31  Plug 

Buffalo Chamber Vacuum Pack Machine 32  Connecting Board 

Buffalo Chamber Vacuum Pack Machine 33  Back Panel 

Buffalo Chamber Vacuum Pack Machine 34  Connector for Power Cord 

Buffalo Chamber Vacuum Pack Machine 35 AE934 Valve 

Buffalo Chamber Vacuum Pack Machine 36  Micro Switch Mount 

Buffalo Chamber Vacuum Pack Machine 37 AF411  Micro Switch 

Buffalo Chamber Vacuum Pack Machine 38  Hinge 

Buffalo Chamber Vacuum Pack Machine 39  M5 Stainless Steel Nut 

Buffalo Chamber Vacuum Pack Machine 40  Pneumatic Arm 

Buffalo Chamber Vacuum Pack Machine 41  Right Spring Fixing Plate 

Buffalo Chamber Vacuum Pack Machine 42  M5 x 16 Stainless Steel Screw 

Buffalo Chamber Vacuum Pack Machine 43  Strut 

Buffalo Chamber Vacuum Pack Machine 44  Insulating Strip for PCB 

Buffalo Chamber Vacuum Pack Machine 45 AE933 PCB 

Buffalo Chamber Vacuum Pack Machine 47  Vacuum Chamber 

Buffalo Chamber Vacuum Pack Machine 48 AE930 Sealing Ring 

Buffalo Chamber Vacuum Pack Machine 49  Lid 

Buffalo Chamber Vacuum Pack Machine 50  Pressing Plate 

 


